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Ω2/0
ሬሬሬሬሬሬሬሬԦ = 0ሬԦ 
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Ω1/0
ሬሬሬሬሬሬሬሬԦ = 𝜃.ሶ 𝑧1ሬሬሬԦ 

  

𝑉𝐼,2/1
ሬሬሬሬሬሬሬሬሬሬԦ = 𝑉𝐼,2/0

ሬሬሬሬሬሬሬሬሬሬԦ − 𝑉𝐼,1/0
ሬሬሬሬሬሬሬሬሬሬԦ 

  

 Rotation autour de O𝑧0ሬሬሬԦ 

𝑉𝐼,1/0
ሬሬሬሬሬሬሬሬሬሬԦ = Ω1/0

ሬሬሬሬሬሬሬሬԦ ∧ 𝑂𝐼ሬሬሬሬԦ 

= 𝜃.ሶ 𝑧1ሬሬሬԦ ∧ ሺ𝑒. 𝑥1ሬሬሬሬԦ + 𝑅. 𝑦0ሬሬሬሬԦሻ = 𝑒. 𝜃.ሶ 𝑦1ሬሬሬሬԦ − 𝑅. 𝜃.ሶ 𝑥0ሬሬሬሬԦ 

= 𝑒. 𝜃.ሶ cosሺ𝜃ሻ . 𝑦0ሬሬሬሬԦ − 𝑒. 𝜃.ሶ sinሺ𝜃ሻ . 𝑥0ሬሬሬሬԦ − 𝑅. 𝜃.ሶ 𝑥0ሬሬሬሬԦ 

  

 1/0 

𝑉𝐼,2/0
ሬሬሬሬሬሬሬሬሬሬԦ = 𝑦.ሶ 𝑦0ሬሬሬሬԦ = 𝑒. 𝜃.ሶ cosሺ𝜃ሻ . 𝑦0ሬሬሬሬԦ  

 Translation suivant 𝑦0ሬሬሬሬԦ 
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𝑦 = 𝑒. sinሺ𝜃ሻ + 𝑅 

𝑦ሶ = 𝑒. 𝜃.ሶ cosሺ𝜃ሻ 
  

𝑉𝐼,2/1
ሬሬሬሬሬሬሬሬሬሬԦ = +ሺሾ𝑅 + 𝑒. sinሺ𝜃ሻሿሻ. 𝜃.ሶ 𝑥0ሬሬሬሬԦ 

  


